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QUESTION 1

Company A has recently acquired Company B and needs to establish network connectivity. Company A has only Cisco
for firewalls and VPN. Company B is using VMware SD-WAN. Which VMware SD-WAN Cloud VPN solution should an
administrator configure to establish connectivity? 

A. Branch to Non VMware SD-WAN Site. 

B. Branch to SD-WAN Hub 

C. Branch to Main Office VPN 

D. Branch to Branch VPN 

Correct Answer: A 

 

QUESTION 2

Which VMware SR-WAN component runs the Deep Application Recognition Engine? 

A. VMware SD WAN Orchestrator 

B. VMware SD-WAN Controller 

C. VMware SD-WAN Gateway 

D. VMware SD-WAN Edge 

Correct Answer: B 

 

QUESTION 3

An enterprise has deployed a VMware SD-WAN solution with Edges in many different located to different 

Partner Gateways. 

Which design makes it possible to have dynamic branch to branch VPN tunnels between any two Edges? 

A. Dedicated at least one Gateway as a Controller, and few initial data plane packets will travers the Controller before
dynamic tunnel is established between the two branches. 

B. Add Controller role to each Partner Gateway. 

C. Configure each partner Gateway as a Controller. 

D. Dedicate at least one Gateway as a Controller, and no data plan packets will traverse the Controller before dynamic
tunnel is established between the two branches. 

Correct Answer: D 
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QUESTION 4

Which form factor can a customer use to deploy VMware SD WAN Edge? 

A. Oracle Virtual Box 

B. Open Virtualization Appliance 

C. Docker Container 

D. Hyper-V Virtual Machine 

Correct Answer: B 

 

QUESTION 5

Which role(s) must be enable under Gateway configuration page to allow a VMware SD-WAN Gateway to build IPsec
tunnels to non-VM SD-WAN? 

A. Control Plane 

B. Control Plane + Data Plane + Partner Gateway 

C. Control Plane + Secure VPN Gateway 

D. Control Plane + Data Plane + Secure VPN Gateway 

Correct Answer: B 
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